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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 2x8=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (i) Write any two factors of economic
development.
AferR forhre & ®E & ®RE fafen |
(i1)) Define to the surplus value.
sIfdess qea w1 qRwifoa sifsw)
(ii1) Define to the capital-output ratio.
Yol-3carg. ST w1 aRefoa i |
(iv) Write the sources of growth in under
development economies.
3oy fawfoa swefemeren § gfg & @edl =t
fafem |
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(v) Write any two benefits of education in Qg —o

economy. (eT W weR)
stefeazen | foem & HIE o1 oy fatew| fder:- =i 9) wvdl & S STl emw et S Sl
sfasram 200 I H Ui SifSTl TS T9H

(vi) Write the components of infrastructure in

8 3T & B

Indian economy.
2. Explain the difference between economic growth

AR AefeTeeen | STHRYT a1 & Hoehi &l
fafe |

and development.

M gfg IR faem & R+ T Hifeg|

(vii) Write the negative effect of green revolution.
3. Explain the models of surplus labour in developing

B WHifd & ThRIcAs e fafa)

economies.
(viii) Define to the food security. 5 o el § o sm @ Hied R
TTE Y& i TR Hifog | THHATET |
Section-B 8x4=32 4. Explain the trends of growth rate of G.D.P. in
(Short Answer Type Questions) Indian Economy.
Note — Answer any four questions. Each answer should not IRdE SAdeeren # St w5 gfg X w1 gt
exceed 200 words. Each question carries 8 marks. T THSEY |
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5. Discuss the demographic trends of Indian

population. Is it helpful in economic growth ? Give

your comment.

YA SHEEA Tt S Yl &1 ==t Hife |

F 3 enferer famm | Heme € 2 oot feuot difsm)

. Discuss the agruments of world trade organization

on agriculture in India.

aRa H fava =R WA & Y yEuE w5 ==t
HITY |
. Discuss the role of public distribution system to

achieve the food security.

TE & I FH H G foaor yonett s ==
FHITSTT |

. Discuss the reasons of adverse balance of payment

in India.

IRA | UfdeRe A Tqed % SR 1 == it |
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9. Discuss the role of multinational companies in
economic development in India.
IRA § agUSE FHE wt o famrm § ffe
W == BT
Section—C 16x2=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
T UEs—q
(& s ue)
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10. Critically evaluate the inclusive growth model.

TSI Tl HiEa h1 SAraAcHE oAk it |
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11. What do you understand by centralized planning ?
Evaluate the role of five year plans in economic

development in Indian economy.

w5 e 9 o9 T 9uea § 7 9 sreieqaen
% onfyew fowm # Uwasta demiet wt gfaer @6

AT e RIS |

12. Discuss the types of poverty. What are the reasons
of high poverty ratio in India. Give the solution

to decrease it.

TS % YRR Y FE HIWT | IR H 359 TS ST
® N HRU E ? TH FH HH H SUH ST

13. Discuss the reasons to increase the public

expenditure. Give the solution to control it.

HESe = § gfg & RO H1 == BT TR
frafya + & S saEu|
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